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1 |dbiEE 1.1E+3 11255 11255
2 |EEHER 1.4E+2 143.3 143.3
3 |&FE 5.8E+2 575.2 575.2
4 |EHE 7.4E+2 737.3 737.3
5 |®MHEER 1.7E+2 165.7 165.7
6 |ILER 9.0E+2 898.4 898 4
7 |EER 9.8E+2 9845 984.5
8 |ZEE 1.1E+3 1,113.6 1,113.6
9 |#HHKE 2 5E+2 2450 2450
10 |HBE 6.9E+2 692.0 692.0
11 |BER 1.0E+3 1,026.2 1,026.2
12 | TER 3.0E+1 29.7 29.7
13 |EHEAR 2.7E+0 2.7 2.7
14 [#FIE 1.8E+1 18.3 18.3
15 |$FiRE 3.2E+2 316.0 316.0
16 |ZWLE 2.9E+1 29.4 29.4
17 |RINE 1.4E+3 1,448.0 14480
18 |fBHE 1.1E+2 105.0 105.0
19 |ILBE
20 |EHE 3.7E+2 3715 3715
21 |[IHBER 7.0E+2 1.0E-1 697.1 697.1
22 |FmEER 2.1E+3 2,059.8 2,059.8
23 |[BHIE 2.0E+3 1,970.7 1,970.7
24 |[=ZEER 6.3E+1 63.3 63.3
25 |#HER 2.6E+0 2.6 2.6
26 |RERAT 5.0E+2 504.0 504.0
27 | KBRFAF 1.2E+1 12.4 12.4
28 |EER 5.6E+2 564.0 564.0
29 |ZRE 6.9E+1 68.6 68.6
30 [fOFRLE 7.6E+1 75.8 75.8
31 [BEWME 2 2E+1 22.2 222
32 |[BiRE 2.2E+2 2216 2216
33 |[EWE 9.9E+1 99.3 99.3
34 |IEBR 2.0E+2 199.6 199.6
35 [WwOg 2.2E+1 224 224
36 |EESR 5 8E+1 57.8 57.8
37 | FINER 1.3E+1 12.7 12.7
38 |BER 2.2E+3 2,218.7 2,218
39 |=HER 2 4E+2 239.2 3.0E-1 0.3 2395
40 [fEME 4 4E+2 438.0 4380
41 |EER 1.2E+3 1,196.3 11963
42 |RIBE 3.7E+2 372.3 372.3
43 [RBERE 2.0E+3 2,003.4 20034
44 [KHE 8.7E+2 865.5 8655
45 [EBE 9.9E+2 993.7 9937
46 |[BRIEBE 4.1E+2 411.6 4116
47 |;hiBs 1.0E-1] 1.1E+2 106.2 106.2
2 5 1.0E-1] 2.6E+4 1.0E-1 25.526.1 3.0E-1 0.3 255264
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